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Znnjwéd 1. «Ywquwytpwynrpjntuutiph b wuhwwn aGnuwplyuwwntpbph Ynndhg
ubpdniéynn wyghqwihu hwpyny hwpydwu ng Gupwlyw wju wypwuputph
gwluyp hwunmwuwbint Jwuhu, npnug UGpunLéncdu wqunywé £ wybjugywsd
wnpdtph hwpyhg» Qwjwunmwuh QwupwywbnnLpjwu 2001 pywljwuh hntuhup
29-h Q0 195 opbtuph 1-hu hnnywédh”

1) 2-pn ywwpptpnipjnitup «1001 91 200 0» dSwéwagnphg htwnn [pwgut] «1002
10 000 0» SwsYwaqgnpny, huy «1003 10 000 0» SwsYwagphg hGwnn gt
«1004 10 000 O, 1007 10, 1008 10 000 1, 1008 60 000 O, 1201 10 000 O,
1206 00 100 O, 8424 81 910 0, 8428 90 710 0, 8716 20 000 0»

Swoélywagnptpny,

2) gwuyh 1001 91 200 0 wuwpwupwjhu nhpph nnnnhg hGunn |pwgut| hGuinlyw)
pnjwlnwyncpjwdp Unp tnnnny.

«1002 10 000 0 - w2npwyh utpdwgne».

3) gwuyh «1003 10 000 O» wuwpwupwjhu nhpph tnnnhg htGuinn |pwgub hGunlyw
pnjwlnwyncpjwdp Unp tninnny.

«1004 10 000 0 - wpuwyh uGpdwgnr».

4) gwuyh «1005 10» wwpwupwjhu nhpph tnnnhg hGuinn [pwgut hGuinlyw)
pnjwlnuwynLpjwdp Unp tnnntipny.



«1007 10 - hwgwhwwunhwjhu unpgnjh uGpdwgnt,
1008 10 0001 - hunywgnptuh uGpdwgnt,
1008 60 000 O - nphnhywt (gnpGUw-w2npwihu hhpphn)».

5) gwuyh «1201» wwpwupwjhu nhpph nnnhg hGunn |pwgub| hGuinlyw)
pnwunwynrpjwdp Unp tninnny.

«1201 10 000 O - unjuwjh uGpdwgnw».

6) gwuyh «1206 00» wuwpwupwjhu nhpph tnnnhg htGuinn |pwgub hGunnlwjw
pnqwunwynrp-jwdp Unp tnnnny.

7) gwuyh «8424» wwnwupwihu nhpph tnnnhg hGunnn |pwgub] hGunwjw
pnwunwynrpjwdp Unp tninnny.

«8424 81 910 0- mpwywnnputnh ypw inGnwnnpytbint ywd wyn tnpwynnputipny
pwnwybint hwdwp bwhuwwnGudwé thnotgphgsubp nL thnpGpw2huhgutn».

8) gwuyh «8424 82» wwnwupwjhu nhpph tnnnhg hGunnn |pwglub] hGunljwi
pnjwunwynrpjwdp Unp tnnntpny.

«8424 82100 O-nnngdwl hwdwp»,
«8424 82 300 O-2wnpdwlwl uwppbn»,

9) gwuyh «8428» wwpwupwjihu nhpph tnnnhg htunnn [pwglb] hGuinlyuig
pnjwunwynipjwdp Unp tninnny.

«8428 90 710 0- wupwndhg uwppbn, nhnup hwwnny bwpuwwnGuywd Gu
g/nLnununtbuw-ywu inpwyunnpubph ypw Juwhpubine huudwins»,

10) gwuyh «8713» wwpwupwjhu nhpph tnnnhg htGunn |pwglt] hGunlyw)
pnjwunwynipjwdp Unp tninnny.

«8716 20 000 0- hupUwptnuwynpynn G hupbwptnuwpwthynn Ygnpnubp Gu
Uhuwygnpnutp® gjnLnununtuncpjwl hwdwp- pGnubph tnpwuuwnpuwjhu
thnpuwnpdwl hwdwn wy Yygnpnubn Go yhuwygnpnubns»,

Znnywé 2. Unylu optupl nudh dbe £ dnuntd wyuwunnwlwl hpwwwpwydwup
hwenpnnn opdwuhg WL lnwpwédynud £ 2018 pywywluh hntujwnh 1-hg dwagnn
hwpwptnpnipjntuutnh ynpuwi:


http://www.tcpdf.org

